


Project : Making a new indicator using 3 indicators

There are 3 indicators used for new indicator likely as below.
∙ OIH_AdvancedParabolic_v1.1_1st
∙ OIH_AdvancedParabolic_v1.1_2nd
∙ OIH_TMA_4lines_NoMTF_v1.0



Possible Area to go up
① OIH_AdvancedParabolic_v1.1_1st [M1]   v4 = -1.00000 on the 1st previous candle in M1 time frame
&&
② OIH_AdvancedParabolic_v1.1_2nd [M1]   v4 = -1.00000 on the 1st previous candle in M1 time frame
&&
③ Price_close [M1] < v2 of OIH_TMA_4lines_NoMTF_v1.0 [M1] on the 1st previous candle in M1 time frame

If above 3 conditions were satisfied at the same time on the 1st previous candle, then it will show a DeepSkyBlue colored bar sized as 1.0 at sub_window, and it will show “v1 = 1.0” in Data Window on current candle.
As you know, it is a normal area where condition ① and ② were satisfied at the same time on the 1st previous candle, also you can see the area of where 2 conditions were met at the same time easily at any chart.
In this normal area of where 2 conditions were met at the same time, I’m trying to get a specific area of condition ③ was satisfied on the 1st previous candle.
In other words, condition ① && ②  Not important area
condition ① && ② && ③  important area
Parabolic dots will be more important when condition ③ was satisfied with condition ① and ② at the same time.
A DeepSkyBlue colored bar will last till 2 conditions were not satisfied at the same time.
① OIH_AdvancedParabolic_v1.1_1st [M1]   v4 != -1.00000 on the 1st previous candle in M1 time frame
∥ (OR)
② OIH_AdvancedParabolic_v1.1_2nd [M1]   v4 != -1.00000 on the 1st previous candle in M1 time frame


Possible Area to go down
OIH_AdvancedParabolic_v1.1_1st [M1]   v3 = 1.00000 on the 1st previous candle in M1 time frame
&&
② OIH_AdvancedParabolic_v1.1_2nd [M1]   v3 = 1.00000 on the 1st previous candle in M1 time frame
&&
③ Price_close [M1] > v1 of OIH_TMA_4lines_NoMTF_v1.0 [M1] on the 1st previous candle in M1 time frame

If above 3 conditions were satisfied at the same time on the 1st previous candle, then it will show a DeepPink colored bar sized as 1.0 at sub_window, and it will show “v2 = -1.0” in Data Window on current candle.
Parabolic dots will be more important when condition ③ was satisfied with condition ① and ② at the same time.
A DeepPink colored bar will last till 2 conditions were not satisfied at the same time.
① OIH_AdvancedParabolic_v1.1_1st [M1]   v3 != 1.00000 on the 1st previous candle in M1 time frame
∥ (OR)
② OIH_AdvancedParabolic_v1.1_2nd [M1]   v3 != 1.00000 on the 1st previous candle in M1 time frame



Possible Area to go sideway
If 3 conditions of “Possible Area to go up / down” were not satisfied at the same time on the 1st previous candle, then it will show a DarkGray colored bar sized as 1.0 at sub_window, and it will show “v3 = 0.0” in Data Window on current candle.









For more details, take a look at below picture, please.
[image: C:\Users\thehe\Desktop\Project_1801111445\Picture(s) used_Project_1801111445\Picture of materials of new indicator_1801111449.png]
Picture of materials of new indicator_1801111449

As you can see, there are 2 vertical lines on chart
- A yellow vertical line at 2018.01.11 05:01 and red vertical line at 2018.01.11 05:13
① OIH_AdvancedParabolic_v1.1_1st [M1]   v3 = 1.00000 on the 1st previous candle in M1 time frame
&&
② OIH_AdvancedParabolic_v1.1_2nd [M1]   v3 = 1.00000 on the 1st previous candle in M1 time frame
&&
③ Price_close [M1] > v1 of OIH_TMA_4lines_NoMTF_v1.0 [M1] on the 1st previous candle in M1 time frame

If above 3 conditions were satisfied at the same time, then it will show a DeepPink colored bar sized as 1.0 at sub_window, and it will show “v2 = -1.0” in Data Window on current candle.
And a DeepPink colored bar will last till 2 conditions were not satisfied at the same time.
① OIH_AdvancedParabolic_v1.1_1st [M1]   v3 != 1.00000 on the 1st previous candle in M1 time frame
∥ (OR)
② OIH_AdvancedParabolic_v1.1_2nd [M1]   v3 != 1.00000 on the 1st previous candle in M1 time frame

Finally, it will show a DeepPink colored bars from yellow vertical line to 01.11 05:12 (previous bar prior to red vertical line).
And take a look at red vertical line (01.11 05:13), please.
On the 2nd previous candle (01.11 05:11), condition① and ② were satisfied at the same time.
But, on the 1st previous candle (01.11 05:12), condition① and ② were not satisfied at the same time.
In other words, the area of where 2 conditions below were satisfied at the same time was broken.
Here, 2 conditions are as following below.
① OIH_AdvancedParabolic_v1.1_1st [M1]   v3 = 1.00000 on the 1st previous candle in M1 time frame
&&
② OIH_AdvancedParabolic_v1.1_2nd [M1]   v3 = 1.00000 on the 1st previous candle in M1 time frame

Finally, it will show a DeepPink bars at sub_window likely as below.

2018 01.11 05:00     05:01        05:02        05:03        05:04         05:05
DarkGray     DeepPink    DeepPink     DeepPink     DeepPink     DeepPink

05:06      05:07       05:08        05:09        05:10        05:11      05:12
DeepPink   DeepPink    DeepPink    DeepPink     DeepPink    DeepPink   DeepPink

05:13
DarkGray



The name of new indicator will be “OIH_ParabolicTMA_TAB_v1.0”.





General Requirement(s)
∙ The new indicator(s) should work properly as I described in my document
-  -
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